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919 {9 9 RS (CHILD DEVELOPMENT AND PEDAGOGY)

fdsr : R g7 % g7 &7 & [ qag ST [[wey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

g

|

frfofag & @ aF-@ @ &=

Fese & QivareTt o veid & dew

Y 77 BB 7

() Fédem el afm &t ge @&
THENTT 1 ¥ Gerar &7 o

() FRsM o Rem & e &
foepre @ SErmEr 3 B

(3) FRsM @Fa@ o & WA B
gmﬁaﬁﬁmaﬁmm
|

(4) Rym fre afd @ o wIN
©E M H § GeEd BT Bl

G HaaT H A B A ©,

T FHEAN €

(1) TEds faas

(2) RS R

(3) gD f=ics

(4) STAETTS e

frffeag & & dF-@1 & FUA

AT & [l & a=ew ¥ 7T

HI B 7

(1) TN A&l & MR 8 2l

(2) HEA ST B &

(3) T B WY G Ig ST
gaﬁ'{%aﬁﬁaﬁr%ﬁwﬁ
|

(4) SR e & e T8 e
Fife SH I B SSH qHH
T B B
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1.

g

|

Out of the following which one is
the wrong statement in context of
characteristics and nature of guidance ?

(1) Guidance is assisting the
individual to adjust himself.

(2) Guidance is promotion of the
growth of the individual in self

Guidance.
(3) Guidance is  helping the
individual  himself  through

others efforts only.

(4) Guidance is  assisting an
individual to find his place.

A type of thinking in which one's
interpret sensation with experience is
known as what ?

(1) Reflective thinking

(2) Perceptual thinking

(3) Creative thinking

(4) Critical thinking

Out of the following which one of

the statement is wrong in context of
characteristics of sentiments ?

(1) Emotions are the basis of
sentiments.

(2) Sentiments are innate.

(3) Sentiments get older with the
passage of time and they may
even change their state.

(4) Most of the animals do not
have sentiments because of they
do not have intellectual
comprehension.

P.T.O.
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4. FER F THIT FH & [0 TG99
QT R B R 7

(1) &R fafy

(2) st fafy

(3) A &y

(4) STrteer fafy

freffag & @ f9-@ s oraud
g% B [qar & 7 ?

(1) e qeai &l T
(2) gl 1 T IYEE HTA
(3) @A

(4) R = § e

Frfafad & & @9-91 & 9950 &}

e G 50t N < e s N TR o

HaHIcHh  ARTE B Fa dlichd

HT R ?

(1) EITHE — IROTES o
Hh — IAeAT

(2) EYFTHE — ARPROTHS  —
gROMES —> I

(3) NERMHE — AINTHE  —
RS —> I

(4) STAYFRTD —> GROMHAS —> Icaa-
—> HAPROTR

|

|®

Ig fhad @el & “afRd THe
AR Afia wgfEr & am &7 7

[~

(1) =ifdT Bra
(3) IS
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(4) B
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4.

g

|®

[~

GET IT ON
Google Play

Which is the oldest method for the
study of behaviour ?

(1) Experimental method
(2) Clinical method

(3) Psycho-physical method
(4) Introspection method

Out of the following which one is
wrong characteristic of Delinquents ?
(1) Damaging school property

(2) Bullying and mockery

(3) Torturing

(4) Aesthanic in constitution

Which one of the following is the
correct logical order of observational
learning process according Learning
Theory of Bandura ?

(1) Attentional — Retentional —
Motivational — Production

(2) Attentional — Motivational —
Retentional — Production

(3) Motivational — Attentional —
Retentional — Production

(4) Attentional — Retentional —
Production — Motivational

Who stated that "Personality is the
sum total of innate and acquired

dispositions" ?
(1) Mortin Prince  (2) Allport

(3) Valentine (4) Cattell
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[5] [A]
8. FM=fafea & 9 HH-AT fJHE $ Hewd 8. Which one of the following is false
¥ oG FE T 7 statement in context of Development ?
(1) fom ¥ uRgaw Fied & 2| (1) Development involves change.
OAREESIES Vet W B 2l (2) The development pattern is
unpredictable.
(3) IRPwE e, ugEEd e @ (3) Early development is more
SNl T S H?I'EE(“T 2 2 critical than later development.
4) fgPe U@ T ARTE @ (4) Development is the product of
SO B B maturation and learning.
9. ﬁ?oﬁvTIVT IRIRE &7 § dSH 4 9% 9. Girls surpass boys physically in :
B ® ¢
(1) Jsraraeen § (1) Infancy
(2) I STeAmEEr | (2) Later childhood
(3) @ S § (3) Early childhood
(4) fpqaeen | (4) Adolescence

10. Frefafad & & a1 & fawg-agg 10. Out of the following which one is
TIIETE TG B TEEE & i the subject matter for study of

T 7 Gestalt Psychologist ?
(1) 3D FlﬁvTITi (1) Cognitive processes
(2) Ja (2) Consciousness
3) ‘\:I"E(“f Y ¥ qEE R FEeie (3) Mental and behavioural
BRI processes a wholes
(4) IiaE & T AR EESIY (4) Modes and  problems of
existence
11. Fl?oﬁv'éﬁ ® ﬁ'q’ TN B BES | 11. What did Freud consider the paternal
fpedl TFanfe fopam & ? love of girls ?
(1) STEME wEeT Jf=e (1) Oedipus complex
2) sﬁ?@T AT If (2) Electra complex
(3) TUH & (3) Narcissism
4) fefar @ s (4) Feeling of dependence

Level-2/212 P.T.O.
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12.

eY

FA-HAT AfTHAIT AU & S
YT HA-AEr B A H BH gE B
e T Ad & oTdl SHHl dih I
B 3, I8 AATTHA H HiA-A1
e & 7

(1) I &1 a9

(2) =EF O w1 R

(3) u1g 9 g wel & fm

(4) I @ faw

Freifafad & @ aF-a sfqgdl a9
YhY A i (AT 8 7

(1) Femdardl ST AE=is
(2) T Afsd @9 § T
(3) T & 9y s @ qqes

(4) T AR # 9WE X I 4
TR Al

frafofed & @ B9-8 T S

“Ha e BN A @@ SEdr

g7

(1) IRRFT — aIR®e  HAdiid —
e Rk

) Mgy - "=FE Rl —
IR STefRT

(3) TRREl — RS i@ —
o R

4) TR —» AFRke Rafld —
IR SA9MiaT
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Sometimes the children of gifted
parents are born with less intelligence
than their parents or vice versa,
which Law of Heredity is called ?

(1) Law of Regression
(2) Law of Selective Traits

(3) Law of Maternal and Paternal
Lines

(4) Law of Chance

Which of the following is the
characteristic of introverted thinking
type personality ?

(1) Realistic and Practical

(2) Absorbed in his own intellectual

pursuit
(3) Supports theory with facts
his
insistence and vehemence

(4) Propagates views with

Out of the following which is correct
sequence given by James Lange's
"Theory of Emotions" ?

(1) Situation — Bodily disturbance
— Mental state

(2) Situation — Mental state —
Bodily expressions

(3) Situation — Bodily expressions
— Mental state

(4) Situation — Mental state —
Bodily disturbance
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15. frefafed § § #W-@ w6 oTaEfte
P fadwar 7&f ® ?

(1) SRR
(2) e qRREfT F TR
(3) 3Ed 59
(4) FRAT H et | B

16. fRad § 9§ $H-8 T gorrehal
B ST e | SOl AeAiead
T | dfaied & # © ?

(1) GerTar STt

(2) T qE DI QI

(3) ¥

(4) Gepea fEToT

17. Fefofeg § @ d9-9 @ fAdwar

ISRl ==l &l gite | SUgdd 78

g7

(1) Teit & oIR ar! & Hied g

(2) FSA TR BEAT B TERT A Bl

(3) 9T TR H AENRAT @A D
e I] ¥ SReY §ed SREsh
T 8 2

(4) S HB IBA G A BT & A
EECAUICE EAN I EICEN RS K|
P MATHAT BNl 2l

18. T AT H G FRAR FA A

g7

(1) 10 ¥ 12 a8

(2) 69 12 a9

(3) 11 ¥ 16 T

(4) 8 9 10 a9
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[A]
Out of the following which one is
not the characteristic of insight ?
(1) Incidental
(2) Response in novel situation
(3) Habit strength
(4) Response spontaneity

Out of the following which one
the
prescribed by Gordon in

is not stage of creativity
his
Synectics Technique ?

(1) Detachment involvement

(2) Finding something similar

(3) Deferment

(4) Concept formation

Out of the following which one

characteristic not suits to gifted

children ?

(1) Learn rapidly and easily.

(2) Perform difficult mental task.

(3) Knows about many things of
which most of the students are
unaware.

(4) Much drill is required to retain
what he/she has heard or read.

What is the age range of puberty
stage ?

(1) 10 to 12 years

(2) 6 to 12 years

(3) 11 to 16 years

(4) 8 to 10 years
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19. Frefofed & & a9-@1 ™ §fa &
foreaes ader @ YR T8 & 7

(1) ST STeT TerT

(2) T A b [STET qLerT
(3) & o= e

(4) U TATST g

20. SF O™ & HIER T= fRE oY
T F o T [ B © 7

(1) 6@ 8a%
(2) 87 109
(3) 78 9Ty
4) 119 1499

21. I8 8 ®a1 A1 & ‘U FfR SOl
U # gREAE B & Riom d
I B9 G R A e T g ?
(1) T
(2) feaE
(3) FipaH
(4) FHrate

iRl H B e @ gl @
M FEd & °

(1) Giaftes Rerar

(2) wiafte HagAsiear

(3) Hiafes fa=m

(4) wiatee qmeA

Level-2/212
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Out of the following which one is
not the type of performance test of
intelligence ?

(1) Army alpha test
(2) Koh's block design test
(3) The cube construction test

(4) The pass along test

According to Jean Piaget between
which the
abstract reasoning ?

age child develops

(1) 6to 8 years
(2) 8to 10 years
(3) 7to 9 years
(4) 11 to 14 years

21. Who stated that "An individual is

intelligent in proportion as he is able
to carry on abstract thinking" ?

(1) Terman

(2) Dearborn
(3) Buckingham
(4) Calvin

What is the process of releasing the
hidden emotional suffocation and
powers inside the children called ?

(1) Emotional stability
(2) Emotional sensitivity
(3) Emotional catharsis

(4) Emotional competency
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23. Fr=fofed & @ S9-8 ww ARl
fe Suge 7@ & ?

(1) e argar e § arRager Refd
Ya &l

(2) foenft & uesi & I I

(3) T TN
(4) Fem ¥ foram-fomst

24. A9 @R g TR ¥ A @

Freffea & ?
(1) 12 2) 10

(3) 30

25. e ANfaEE & far & =0 § 59
ST ST § 7

(1) g0 Tdo IHETEH
PRSISIE

(3) &

(4) ThIeIT

26. QRAMEH THEAS B SMASHR fhe
fopar o 7

(1) o Fo TIETE
(2) Sto Tdo AR
(3) 3o Hlo Bl
(4) Sflo THo HER

4) 31

Level-2/212
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Out of the following which one
activity is not suitable for satisfying
the instincts curiosity ?

(1) Awarding positions in the class
or school

(2) Answering the questions of the
students

(3) Problem solving
(4) Discussion in class

How many cards prescribed in
Rorschach Ink Block Test ?

(1) 12 (2) 10
3) 30 4) 31
Who is known as father of

Educational Psychology ?
(1) E. L. Thorndike

(2) Pestalozzi

(3) Herbart

(4) Froebel

Who invented sociometric technique ?

(1) J. E. Anderson
(2) J. L. Moreno
(3) E. B. Hurlock

(4) G.S. Marmor
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21.

eY

URFHT & FIEAR AR & FHIGHINTD
foepre @ et otawem - R ?

(1) Il S9 ™ A4

(2) YBdM SAM YA Hife
(3) uReH PR a9 B
(4) S I Rerar

M@ & AR M & Bl
e & ‘Ter qRuear SR Fal
S ' 7

(1) Araraeen

(2) SrETEeT

(3) fopsmRraen

(4) Mg

29. O HI Ad AU RN qun Rl

Rl U8 g oA @ STIEU S
6 HT A1 & T T8 IFIHT BT
qEA &, Ao 39 YBR B BEA BE-A
SR I V& gl Fearl © 7

(1) TR

(2) W&o

(3) afifer =

(4) fem=

frefofeg & @ ®9-a1 SAEeRn &7
= AT foeR 78 ' 7

(1) ot B FHI
(2) gaar

(3) ST ISR
(4) THAT

[10]

21.

30.
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Which is the fourth stage of psycho-
social development of an individual
according to Erikson ?

(1) Intimacy v/s isolation
(2) Identity v/s role confusion
(3) Industry v/s inferiority

(4) Generativity v/s stagnation

According to 'Ross', which stage of
development is known as 'Pseudo
Maturity' stage ?

(1) Infancy

(2) Childhood

(3) Adolescence

(4) Adulthood

When a person tried to make his/her
thoughts and action according to
other whom he like to follow, then
this kind of activity called which
type of defence mechanism ?

(1) Identification

(2) Projection

(3) Rationalisation

(4) Displacement

Which one of the following is not
the common
childhood ?

(1) Depletion of Energy

speech disorder of

(2) Lisping
(3) Slurring
(4) Stuttering

Level-2/212
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[11] [A]
91T - II (PART - II)
A7 (%) wd Si3h) [ LANGUAGES (HINDI & ENGLISH) ]
f&=t (HINDI)

& : e 797 % o7 &7 & [ qag ST [dwey g

31. b HEEra® G w0 R 35. =1 § § F-4 )= ‘o SuEd @

FfRTaTes e H g © ¢ i 78F 8 ?
(1) seus 2) B (1) srgaics— (2) aﬂaﬁ
(3) ted (4) T @) o @) o
so. P Ry & @R am D 7 &gﬁﬁﬁﬁmﬁwaﬁrwﬁw
(I)Wﬁ'ﬂﬁlﬂ%l ‘ (1) ‘%’EETB?EHTUTW‘TTT’%I
(2) AR gA emel @ § =) ) et @ @ o AieE ot §
(3) & Gehel & &l AEH S & % A B
(4) TR ST AT A B 3) @ A T B} oo &R A A
ST B
TR ?
(1) TRl - 37. 19 fIpeT & O 9= fRet € 7
) S5 - & (1) ofroars, 70, qad
(2) FRR, SRR, Heml
(3) foeie - &9
. . (3) THRH, STHEH, TEX
(4) g (4) foean, g, gl
34. GUE-E # e § IH-A1 A 2. i a3 gt ¥ o e
e ? .
(1) BUHTEN - BT | = ATl HI0 (1) S - o, <6,
(2) oFT - g & S A (2) STEHX - &9, a4, 7
(3) IRRT - 3 B | AR (3) T - WA, wg@, g
(4) 9gET - 9y & QS (4) #reT - B, Aggd, SfERy

Level-2/212 P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

[A] [12]

39. b o # oRwEEE fadwer & 43. BbA1 & dEy F M- TH oglT
SN ot ¥ 7 g7
(1) ¥ it e T2 e ) 1 e TT foe @ 2 -
. S EnCRED
(2) ¥ ST AR H g St By (2) T AW & o R R -
(3) E@ & ¥_M T feee® fohar
(4) R a8t TS B (3) &= ¥ AR A9 W@ & -
SERCRER
0. ol & @ A WwEE o S (4) 95 Fe & ST G G-
Bl § IH A Hl ESh aehleR R B
G
(1) S # fes & d=r 44. 9 faew ¥ dfe-faede ogfam R ?
(2) Ul SR A=A (1) R = i + o
(3) R R @t drest BT ST T (2) onsfid=m = o + aEe
(4) ™ & AW [efrEl & &M (3) ek = + <
a1 fou a ¥ wdem el oglr ® 7 (4 T =T+
(1) gl g% & el a8 B 45. 1 & @ frm o] @ ofd W 78
(2) & oo FE F @ g %?:@
(3) foram s @ R, ' R v T AN . .
ER US|
4) W F FB Al & T
@ AR e (2) Sl §% B - 9 B S
42. AW = # I q ogET TW (3) R & TENT Ui 9 ST -
TR - P RIH HIAT
(1) 9% - 9% (4) ol BT T B - | GAA B
(2) R - Fe=ERa
(3) foega - dier
(4) 7YX - =g

Level-2/212
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6.

Select the correct option (Phrasal
Verb) for the underlined word :

She rejected his request to take her
home.

(1) turned up
(2) turned down
(3) turned out
(4) turned off

50. Select the appropriate modal to fill

in the blank :
Trespassers ........... be punished.
(legal notice)

(1) shall (2) may
(3) should (4) ought to

9l. Choose the appropriate preposition
to fill in the blank :
What i1s the time ........... your
watch ?
(1) in (2) from
(3) by (4) on

52. Select the correct option (Phrasal

Verb) for the blank left in the
sentence :

Cholera has
(1) broken out
(2) broken down
(3) broken up

........... in this village.

[13]
3T (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.
Choose the correct option to fill in 49
the blank : T
This pen is both good ........ cheap.
(1) as well as
(2) as well
(3) but only
(4) and
41. Select the appropriate preposition to 50
fill in the blank :
His hut is ......... hotel Taj.
(1) above
(2) out
(3) besides
(4) beside 5L.
Choose the correct meaning of the
underlined words :
The law and order situation will only
become worse in the state due to the
riots, if the government does not do
something right now to nip it in the 52
bud. '
(1) To plan in detail to stop a threat
(2) To destroy the problem in the
initial stage only
(3) To arrest the culprits
(4) To stop something harmful in
the initial stage

Level-2/212

(4) broken off
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53. Choose the part of the sentence
which is incorrect :
The party president made
(@)
Rakesh a M. P. candidate
(b) (c)

for the coming election.

(d)

(1) a
3) ¢

2) b
4 d

Choose the part of the sentence
which is incorrect :

He did not  keep his words
(a) (b)
to pick himup  from WTP.
(©) (d)
(1) b (2) c
(3)d 4) a

55. Choose the correct tense form to fill
in the following :

I had consulted my lawyer before I
<veveee... the complaint.

(1) did lodged (2) had lodged

(3) lodge (4) lodged

56. Choose the appropriate modal to fill
in the blank :
He ............ listen to the stories of
his Grand Ma before he slept.

(Past habit)

(1) could (2) shall
(3) would (4) might

[14]

51.

GET IT ON
Google Play

Choose the correct meaning of the
underlined words :

The hostess broke the ice by
introducing the strangers to each
other.

(1) To make people relax with each
other

(2) To make people perplexed with
each other

(3) To serve welcome drink to the
guests

(4) To start a game of puzzle

Choose the correct tense form to fill
in the blank :

Municipality has decided to
the overhead wires.

(1) did away with
(2) do away with

(3) has done away with
(4) had done away with

99. Choose the correct option for the

following :
One who wastes a lot of money is :

(1) frugal
(3) prodigal

(2) recluse

(4) reticent

Select the appropriate modal for the
expression given :

Harish has annoyed his boss today.
He ........ be fired soon. (probability)

(2) can
(4) would

(1) may
(3) ought to

Level-2/212
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GET IT ON
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[A]

[ - III (PART - III)
Y 3199+ (GENERAL STUDIES)

RS ARG, it ST T4 | ST U§ SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

3T : Rt g7 % a7 &7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

63. TF HUS fashal 33 HieX HUST

TF IR & d=E 66 HeX §, O 39
R § §9C & G g 1.32 9t
oY & gt @ g ©

(1) 1000
(2) 50

(3) 500

(4) 5000

140 #HieX =l WL B A
60 fFfi /gver B, 3@ 260 Hiex =

QCHE B IR H A fhar 9Hg
T ?

(1) 18 Q&vs
(2) 24 QTS
(3) 30 q&HUS
(4) 32 QU8

IIHY,
11 9T 38 CRELE
T I w]
gfqerd 2 :

(1) 11%
(2) 22%
(3) 50%
4) 40%

EEINR D
g

®
qal B, O SEHEl @rH

Level-2/212

61.

The length of a wire is 66 metre,
then the number of circles of
circumference 1.32 cm that can be
made from the wire is :

(1) 1000
(2) 50

(3) 500
(4) 5000

62. A train 140 metre long is running at

60 km/hour. How much time will it
take to pass a platform 260 metre
long ?

(1) 18 sec
(2) 24 sec
(3) 30 sec
(4) 32 sec

63. A cloth merchant on selling 33 metre

of cloth obtains a profit equal to the
selling price of 11 metre of cloth.
The profit percentage is :

(1) 11%
(2) 22%
(3) 50%
4) 40%


https://applink.adda247.com/d/XhqWf9lSap
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[A]

e 4 gE9 A 6 WA TH FE H 7
gue gfafed & & 12 RAF § @<
wha €, @ SU FE A G ST FE
10 go9 @9 3 #RA 8 gUe i
FE B b A A G H T 7
(D) 6 2) 7

(3) 38 4 9

g x=1+1\/E @, @ x> +2x+3
H IE B -

(H O 2) 1

(3) 4 “4) 2

7T 318X IO 1 SFIET U BRT -

CAE, HFJ, MKO, RPT, ....
(1) UTY (2) WUY
(3) VUZ 4) WUZ

67. Ui ARKEl A, B, C, D @1 E #, A,

B 4 BT AfT E § @1 3, C g9
@1 %, D, B § BleT & AfkT A 9
T L, A 39 ° B 99 BleT § 7

(1) B
3) D

2) A
4) E
Th EEGYS 9 100 & OB

X ST T fawet 40 qdt B, @
SHH & ?

(1) 300
2) 600
(3) 780 {4’
@) 900 &’

Level-2/212

65. If x=

GET IT ON
Google Play

If 4 men or 6 women can do a piece
of work in 12 days working 7 hours
a day. How many days will it take to
complete a work twice as large with
10 men and 3 women working
together 8 hours a day ?

(1) 6 (2) 7
(3) 8 “4) 9
1+1 \/5 , then the value of
x2+2x+3is:
(H o (2) 1
(3) 4 4) 2

The next term of the following letter
series will be :

CAE, HFJ, MKO, RPT, ....
(1) UTY (2) WUY
(3) VUZ 4) WUZ

67. Among five persons A, B, C, D and

E, A is shorter than B but taller than
E. C is the tallest. D is shorter than B
but taller than A. Who among them
is shortest ?

(1) B
3) D

(2) A
4) E
The perimeter of a rhombus is

100 cm and one of its diagonal is 40
cm. Then its area is :

(1) 300 cm®
(2) 600 cm®
(3) 780 cm”
(4) 900 cm®


https://applink.adda247.com/d/XhqWf9lSap
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69. & Freng o T foF @ W ¥ wel
forsreng & dren o o7 @ orgu 1 3
T T g F ST 2 ;5 B 3 A
fersrergent 1 fbe ergur # e S,
afes 8 Feag & 9@ Jo T @

1. ™9 990 ¥ g 9 S| i

135, 226, 353, 552, 739
(1) 353
(2) 226
(3) 552
4) 739

% 5,000 T 12% 0% & & & 4
2 a9 & HHER AN T ThafE

¥ oY BT :

(1) T72
(3) T96

(2) T 84
4) T 36

Level-2/212
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69.

GET IT ON
Google Play

[A]

Two alloys are both made up of
copper and tin. The ratio of copper
and tin in the first alloy is 1 : 3 and
in second alloy is 2 : 5. In what ratio
should two alloys be mixed, to
obtain a new alloy such that the ratio
of copper and tinbe 3 : 8 ?

(1) 3:5

2) 4:9

3) 4:7

“4) 3:8

A said "that boy is the grandson of
my mother's husband. I have no
brother or sister." How is the boy
related to A ?

(1) Uncle

(2) Son

(3) Nephew

(4) Cousin

4l. Find the wrong number in the

following series :
135, 226, 353, 552, 739
(1) 353
(2) 226
(3) 552
4) 739

The difference between simple
interest and the compound interest
compounded annually at the rate of
12% per annum on < 5,000 for two
years will be :

(1) T72
(3) 96

(2) % 84
4) 36


https://applink.adda247.com/d/XhqWf9lSap
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13.

a gt # I 520 B, 3k S
IS G& B 4% HY BT AT
AR B #w 129% T R
g e Waﬁr, @ T
Bidl T ® ¢

-

(1) 210
(3) 270
frefafeq 9ot § 799 @& §@
I

G4T, J9R, M20P, P41N, S90L
(1) J9R (2) M20P
(3) P41N (4) S90L

(2) 240
(4) 300

75. U% g9 F @S, ASE Td TR

AT 19 @ B, T IR A
fst & W@ SVS W OB, @ gEe
T {6 ©

(1) 361 4’
(2) 286
(3) 236 T’
(4) 340 %

Level-2/212
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13.

GET IT ON
Google Play

The sum of two numbers is 520. If
the bigger number is decreased by
4% and the smaller number is
increased by 12%, then the obtained
numbers are equal, then smaller

number is :
(1) 210 (2) 240
(3) 270 (4) 300

Find the wrong term of the following
series :

G4T, J9R, M20P, P41N, S90L
(1) JOR (2) M20P
(3) P4IN (4) S9OL

75. The sum of length, breadth and

depth of a cuboid is 19 cm and its
principal diagonal is 5J5 cm, then
its surface area is :

(1) 361 cm®
(2) 286 cm”
(3) 236 cm®
(4) 340 cm’
If a person walks 8 km towards
South then turns right and walks
8 km, again turns left and walks

10 km. In which direction is he from
starting point ?

(1) East-South
(2) North-East
(3) North-South
(4) South-West


https://applink.adda247.com/d/XhqWf9lSap
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M # gt

qd fasm & geaT 2
Rl oo 8, 36 9% 98 SaX fad
¥ gea 4 fdl @@ 31 oW a8

gRfe farg & feal QX @1 & 7
(1) 5 et

(2) 6 5
(3) 3 &
(4) 4 frit
e W = 23, STRONG = 93, &
WEAK XX & :
(1) 40 (2) 41
(3) 43 4) 44
80. R Sa+——=5, A 94’ + - &
3a 25a
qH 2 :
51 29
1) =— 2) =2
(1) 5 2) 5
52 39
3) 2= 4) 22
(3) 5 4) 5
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11.

GET IT ON
Google Play

[A]

In a row of boys, A is 15th from the
left and B is fourth from the right.
There are three boys between A and
B, C is first left of A. What is the
position of C from the right ?

(1) 9th
(2) 10th
(3) 12th
4) 13th

A person walks 2 km towards East
and then he turns to South and walk
1 km. Again he turns to East and
walks 2 km after that he turns to
North and walk 4 km. Now how far
is he from his starting point ?

(1) Skm

(2) 6 km
(3) 3km
(4) 4 km
If W = 23, STRONG = 93, then
WEAK is equal to :
(1) 40 (2) 41
(3) 43 4) 44
80. If 5a+L=5, then the value of
3a
9a’ + 5 1S :
25a
51 29
(nH — 2) —
5
2 39
3) — 4) —
3) 5 4) 5
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8l1.

83. TXal, 2021 # AR ‘364 U

eY

[20]

HieeT gl ® fga® & SEE W
‘qeguEl e SFF o & ded A
S At TR E

(1) 11,000 &9
(2) 21,000 &9
(3) 31,000 &9
(4) 51,000 &9

1857 &t HIf<T B G AGLeaH @
s 9

(1) SeIgee 4
(2) BHETR |
(3) TR |

(4) TR &

SiER weifesd gl § eRamn
T 3 e @O 5% SHid ¢

(1) 13

(2) 18

(3) 21

(4) 24
freifafed & & &9 eRarm & waite
ety % e T ® R 7

(1) dlo THo =kl

(2) To Mo fheag

(3) SFI=TT wetiean

(4) < THE qidh

Level-2/212

81.

82. The

GET IT ON
Google Play

The amount which is given to the
sports woman on the occasion of
marriage  under  'Mukhyamantri
Vivah Shagun Yojna':

(1) Rs. 11,000
(2) Rs. 21,000
(3) Rs. 31,000
(4) Rs. 51,000

hero of 1857 Revolution
Abdurrahman Khan was related to :

(1) Bahadurgarh
(2) Farrukhnagar
(3) Jhajjar

(4) Yamunanagar

83. How many gold medals were won by

Haryana state in the '36th National
Junior  Athletics Championship',
which was held in February, 2021 ?

(1) 13
2) 18
3) 21
@) 24

84. Who among the following was the

longest serving Governor of Haryana ?
(1) B. N. Chakraborty

(2) A.R. Kidwai

(3) Jagannath Pahadia

(4) Kaptan Singh Solanki


https://applink.adda247.com/d/XhqWf9lSap
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85. ERAMM difew oTHEHT & ) H
FTIRGT FHAE PN qfed -

(i) el orheHl & FegE & &Y H
P FA ol

(i) ‘st STepeHr & ue B

% P

(1) Fa@ F99 () T8 §

(2) Fad B9 (i) TEl o

(3) 7 2 (i) oI} 7 & (ii) ¥ B
(4) I FUT TR

“Ygadl’ e e ek § @
fRerg & 7

(1) goaq &

(2) ismen #

(3) #di9 ¥

(4) TG §

T S e b P # Reg B ?

(1) I
(2) d=rege
(3) fear
(4) Ryt
ERAN & Hel URg § gAaH HEe
g 9% 8 ¢
(1) 10

(3) 14

2) 12
4) 06

Level-2/212

[21]

GET IT ON
Google Play

[A]

85. Read the following statements about

Haryana Sahitya Academy :

(1) The Chief Minister serves as the
President of the academy.

(i1) 'Harigandha' is the Magazine of
the academy.

Choose the correct code :

(1) Only statement (i) is correct

(2) Only statement (i1) is correct
(3) Neither (i) nor (ii) is correct

(4) Both the statements are correct

86. Where the 'Panchwati' pilgrimage

87. In which district

site is located in Haryana ?
(1) In Palwal

(2) In Ambala

(3) In Hathin

(4) In Ballabhgarh

the 'Chinkara
Breeding Centre' is situated ?

(1) Kaithal
(2) Panchkula
(3) Hisar

(4) Bhiwani

The minimum number of members

in the Council of Minister of
Haryana can be :

(1) 10
3) 14

2) 12
4) 06


https://applink.adda247.com/d/XhqWf9lSap
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[A]
89. Frifafad & & @d-@/&M-4 ™
7e =B/2 7
(i) o9 9y — e B
(ii) TXEA T S STHANOT — HIA
(iii) TR I S{1g AHIANTY — FooTK
7& FHE F T BT
(1) @ (i)
(2) (i) &R (i)
(3) (i) &R (i)
(4) % (iii)
90. =G i GHiET B
™ o
(A) A B T 7ew (1) AN
(B) ami%qzs (i) TEIH
RPRER]
(C) A T=r (iii) IR
(D) |ie & f6er  (iv) 9Hga
%<
A B © (D
(M G G Gv) @
() Gi)) @Gv) @@ (i)
(3) Gv) () Gi) @)
@ Gi) G @G @)

[22]

89.

GET IT ON
Google Play

Which of the following pair/pairs
is/are true ?

(i) State Animal — Black buck
(i1) Saraswati Wild Life Sanctuary —

Kaithal
(iii) Nahar Wild Life Sanctuary —
Jhajjar
Choose the correct code :
(1) Only (i)
(2) (1) and (iii)
(3) (1) and (i1)
(4) Only (iii)
90. Match the following :
Name Place

(A) Birbal's
Mabhal

Rang (i) Narnaul

(B) Spiritual Museum (ii) Gurugram
(C) Chor Gumbad (iii)) Yamunanagar

(D) Sohna Fort (iv) Panipat

Code :

@A) B © @
(D ) @) ) @
(2 @) Gv O @)
(3) Gv) @Gy G @)
@ @) @ @@  (Gv)

Level-2/212
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[23] [A]
[T - IV (PART - IV)
ST TS99 (SOCIAL STUDIES)
@9 : =i 77 % G @7 % [T @aq ST Ay g
Direction : Answer the following questions by selecting the most appropriate option.

91. FdemE B W divad g 91. Who gave the scarcity centric
fpes & 7 definitions of economics ?
(1) et (1) Marshall
(2) (2) Robbins
(3) a'ﬂ?\':l:[ (3) Samuelson
(4) Jife=a= (4) Robinson

92. YR 9 Ub@M & 9 QA 92. When the agreement was signed
gise™l $ TET A e qieg 9% between India and Pakistan to
BB %9 8 ¢ inform about nuclear installations ?
(1) 31 fd&w=Y, 1988 (1) 31 Dec., 1988
(2) 27 SEd, 1991 (2) 27 Jan., 1991
(3) 31 R&=R, 2020 (3) 31 Dec., 2020
4) 1 s9a4, 2021 (4) 1 Jan., 2021

93. f=ifeifad & @H-ar e @ e 93. Which of the following is not an
I IMEH &8 78 © ! Iron ore producing area of Orissa ?
(D q\gaﬂ'@ (1) Kudremukh
(2) TEHIEEH (2) Gurumahisani
(3) 91 YeTs (3) Badam Pahar
(4) fHRgs (4) Kiriburu

Level-2/212
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[A] [24]

94, o199 H CRGEGEI ‘Tsi g @‘FFﬁ g 8n 94. The thunderstorms causes rainfall

arl aut FHEAR © during April and May in Assam are
called :

(1) TN qmEr (1) Mango showers
2) g (2) Loo
(3) =0 = (3) Cherry Blossoms
(4) ST grgT (4) Bardoli Chheerah

95. A¥HUSH H THFT A9 YW & © ¢ 95. Normal Lapse rate in troposphere is :
(1) 6°C ¥fd 1000 #HexX (1) 6°C Per 1000 meter
(2) 8°C gfi 1000 HieX (2) 8°C Per 1000 meter
(3) 6.5°C 9fd 1000 #HieX (3) 6.5°C Per 1000 meter
(4) 5.5°C 9fd 1000 #HieX (4) 5.5°C Per 1000 meter

96. &9 # ‘qﬁ’r {qa) @ ger g ad 96. In which year did the 'Incident of
gi% ? Bloody Sunday' take place in Russia ?
(1) 1903 (1) 1903
(2) 1905 H (2) 1905
(3) 1917 ¥ (3) 1917
(4) 1927 ¥ 4) 1927

Level-2/212
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97.

eY

ga-1 & ga-11 9 fE S ofX
e Ry T HE § H @@ W W
TG BN

gE-1 gE-11
a%m:ﬁﬁr fosm e () e

g, YoNig a8 &, (i) ALt
T R faem @
TH=Y

. oM e W (i) 3
&l foeme

g ToHING g B (iv) el

AR AT 8
% -
(1) 811 @) "Fai) FT@Av)
(2) @) F@av) ") g (111)
(3) A @u) F@1) () T (1v)
4) 8T(1) () FQAv) <T@

ISEM facoll & 49 Jaen &

ey H Mg »9 § 9 &

g/ ¢

() STREN faall 3 uh e g
QT TSl B

(i) STaeEN Raaent 7 AR & e
G’ e e S9N

(iii) STeeEN Rl 3 AR A1 g
® WM W T%s dav f&am
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91.

98.

GET IT ON
Google Play

[A]

Match List-I with List-II and
identify the correct answer from the
code given below :

List-I List-11
Political Science (1) Gettle
is an Art

B. Political Science (ii1) Bluntschli
is combination of
Art, Philosophy
and Science

A.

C. Political Science is (ii1) Easton
Science of State

D. Politics is (iv) Catlin
authoritative
allocation of value
Code :
(I) AG B@) Cai) DQ@av)
2) A@) B@av) C() D (iii)
(3) AGii) B@) C() D (iv)
4) A@) B@ai) C@Gv) DAQO)

With respect to the military system
of Alauddin Khilji, which of the
following statements is/are true ?

(1) Alauddin Khilji raised a huge
standing army.

(i1)) Alauddin Khilji established a
city named 'Siri' for the soldiers.

(i11) Alauddin Khilji paid the soldiers
in cash instead of Iqta.


https://applink.adda247.com/d/XhqWf9lSap
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[A]
&< -
(1) ®a (i)
(2) %A (iii)
(3) () & i)
(4) (), (ii) & (i)
99. ARd & SW-&RY foER d

qd-9iRed faeX & we oA SR
g7

(1) 281 5t &1
(2) 271 T8t &
(3) 291 &t &1

(4) 285 fHl #

ooooooooooo

ST ST &
(1) femE

(2) @Y feArE
(3) ST feHrm™
(4) T fermr
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99.

GET IT ON
Google Play

Code :

(1) Only (i)

(2) Only (iii)

(3) (i) and (ii)

(4) (i), (ii) and (iii)

What is the difference between

North-South extent and East-West

extent of India ?

(1) 281 Km

(2) 271 Km

(3) 291 Km

(4) 285 Km

Himachal Himalaya is also known

as .

(1) The Himadri

(2) The Lesser Himalaya

(3) The Outer Himalaya

(4) The Trans Himalaya


https://applink.adda247.com/d/XhqWf9lSap
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101. fF=fifeg & @ a9-@1 U™ @@
g fee 2007 ® ST 78T 8 ?

(1) 7 faem

(2) =mad s

(3) e fem

(4) fortet fem

I & HENEre]  Eaer &
gferae® &

(1) HeT Taeriex T8

(2) oHE T

(3) Bree Hpell

(4) S Fisarierd

‘Ao & goedr & gy =i |
AfFmaTas?

(1) fafmior &=

(2) P &

(3) |ar &

(4) farem &=

Level-2/212
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GET IT ON
Google Play

[A]

101. Which of the following is not a part

of 'National Food Security Mission-

2007' ?

(1) Wheat Mission
(2) Rice Mission
(3) Pulse Mission

(4) Oilseeds Mission

The exponent of 'Mahalwari System'

of land revenue was :

(1) Captain Alexander Reed
(2) Thomas Munro

(3) Holt Mackenzie

(4) Lord Cornwallis

'Make in India' is related to which of

the following field ?

(1) Manufacturing Sector
(2) Agricultural Sector
(3) Service Sector

(4) Education Sector


https://applink.adda247.com/d/XhqWf9lSap
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104.

AR e A B QU AR G
INT TR T &N 817

HH-9 T ¥ SRied g ® 7

(1) R A stfaf=m, 2015

(2) e g sifafam, 2005

(3) TR Srfger sifEfwaH, 2016

4) e Sifgewr srfafam, 2017

frfoieq Ul 9™ 9 HeEtea
AT el (A1) § & HF-1 T
T gHlea 78 © 7

(1) T — @ 3
(2) T Wb — TG STHH &

(3) B W — TeaM gy
4) 99 % — Gl Ty WH g
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104.

105.

GET IT ON
Google Play

"Persons with disabilities have equal

rights and that the government
should make possible their full

participation in society."

In which Act above provisions are

mentioned ?

(1) Persons with Disabilities Act

2015

(2) Persons
2005

with Disabilities Act

(3) Persons with Disabilities Act

2016

(4) Persons
2017

with Disabilities Act

Which one
correctly

of the following is not
with  the

to

matched

standardization marks related

consumer protection ?
(1) Agmark — Food Products

(2) Ecomark — Domestic Consumer

Products
(3) Hallmark — Precious metals

(4) Woolmark — Cotton and Silk

fabrics


https://applink.adda247.com/d/XhqWf9lSap
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106. g 3 & § H=-4r 3w 1815
% [T B9 w1 o 8 o ¢

(1) fses
(2) HgHT TG SR
(3) &

(4) Sitgzn

qfeId |geIeh [qaRer Jomel (TPDS)
PN URH H gl ?

(1) 5, 1997
(2) s, 1998

(3) <&, 1999

(4) B, 2000

AWHTT B IR B PH-A1 HU gat
g7
(1) IgEiepTer s onfdies aRmesT ?

(2) AEHT B FHAW 1991 F g8
(3) ALAHTT AR UfEHET T B

(4) AdiRTeT T qgeTAnt aRgeT ¥

Level-2/212
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106.

107.

10

GET IT ON
Google Play

[A]

Which of the following countries
was not a part of Vienna Congress of
1815 ?

(1) Britain

(2) United States of America

(3) Russia

(4) Austria

When Targeted Public Distribution
System (TPDS) was started ?

(1) June, 1997

(2) July, 1998

(3) August, 1999

(4) April, 2000

Which of the statement are true
about globalization ?

(1) Globalization

economic phenomenon

is purely an

(2) Globalization began in 1991

(3) Globalization is the same thing

as westernization

(4) Globalization

dimensional phenomenon

is a multi-

P.T.O.
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[A] [30]

109. FrfifEd gl H@dl A @ B9 g 109. Which one of the following Sufi

TR R |§ 787 ﬂé g ? Saints was not associated with
Nagshbandi Silsila ?

(1) 98 el I (1) Shah Waliullah

(2) TN S faere (2) Khwaja Bagqi Billah

(3) TnT 4R &8 (3) Khwaja Mir Dard

(4) G THEF T (4) Sheikh Sharfuddin Yahya

110. 9Rd d T4 T g%rrﬁ (QF[O Go 110. Who was the Governor of R.B.I. at the

GﬁO-1991) % NIV B & 9 3o time of implementation of New
o Mo TGWX B & ? Economic Reforms (LPG-1991) in
India ?

(1) 7Hes e (1) Manmohan Singh
(2) Hlo TR (2) C. Rangrajan
(3) THo JeheTHA (3) S. Venkataraman
(4) AHAH HIY (4) Amitabh Ghosh

111. fy=ifoiad 3 § & fb| 3 9 o 111. Which of the following countries
H oME THe ¥ IO %‘g’ ‘Sl prepared the 'Dawes Plan' to get
DISEIR EFH'% ? Germany out of the economic crisis ?
(1) e (1) Britain
(2) wia (2) France
(3) TR T SR (3) United State of America
4) &9 (4) Russia

Level-2/212
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[31] [A]
112, =i T q P9-9T R ﬂg'{l’%ﬁ'q 112. Which of the following is not an
frm 787 § 7 Indian Multinational Corporation ?
(1) Mo dio o (1) LT.C.
(2) ST (2) Zomato
(3) qﬁiﬁﬁ?ﬂ (3) Micromax
(4) = (4) Nestle
113, T6 Tid< e 7 G 9o S e 113. Guru Gobind Singh founded the
&l Khalsa panth in :
(1) 1598 H (1) 1598
(2) 1636 & (2) 1636
(3) 1699 ¥ (3) 1699
4) 1704 4) 1704
114. 9T @ 2001-2011 & QA STHGET 114. The decadal growth rate of population
ERETRIG -l during 2001-2011 in India was :
(1) +21.54 (1) +21.54
(2) +20.54 (2) +20.54
(3) +17.64 (3) +17.64
(4) +18.64 (4) +18.64

Level-2/212 P.T.O.
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115. ‘¥ UfaR Tele’ G fhen ferdl ?

(1) e |
(2) HIEH

(3) frercd
@ T

116. =farad § 4
g7
a| 3 A
(1) 9=l
() I@

(3) s
4) =q

117. &= & § sE-a

P-91 GAk 78

R
S SRR
afereil aTshient
gferell MR

LY

TR N d9X B

duar e & 78 8§ °?

(1) rgeAt e
(2) SR e

(3) TR ST

(4) HREE Jgga

Level-2/212
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Who wrote the book 'The Power

Elite' ?

(1) Wright Mills

(2) Mosca

(3) Michels

(4) Pareto

Which one of the following is not
correctly matched ?

Grassland Region

(1) Prairie North America
(2) Veld South Africa
(3) Downs South America

(4) Steppes Eurasia

Which one is mot kind of Max

Weber's legitination view ?

(1) Legal Authority

(2) Power Authority

(3) Traditional Authority

(4) Charismatic Authority
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118. ‘Forg® & el & ¢

(1) RageRavs §

(2) eI woEd H

(3) gell §

(4) o THo To §

BRI IR I B A b |
3/ 8

() fafesr o & sEfg kg 30 &
Ted 99 HelIEs a9

[
ol

(i) Fhifea wRe fe" dege @
O 1905 # Eued | gl

(iii) 1878 3o & a7 Sy ¥ Sl
H A a F Srer T

% -

(1) &ad (i)

(2) o (iii)

(3) (@, (i) & (i)
@) () @ (i)

Level-2/212
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[A]

'Chinook’ wind blows in :

(1) Switzerland

(2) Sahara desert

(3) Italy

(4) USA

Which of the following statements
is/are true ?

(1) Dietrich Brandis became the
country's first Inspector General

of Forests during the British era.

(i1)) The Imperial Forest Research
Institute was set up at Dehradun

in 1905.

(ii1) In the Forest Act of 1878 the
forests were divided into two

categories.
Code :

(1) Only (i)

(2) Only (iii)

3) (i), (i) and (i)

(4) (1) and (i1)
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[A]

120. WRAE b & @ DG T
Al 787 © ?
(1) 5o gt & T\
(2) WREEER # Gl
(3) ofifey e
(4) T T wel 8

ARG Gfag™ & d9-9 A § §9
Tg g & UMD T arid & ¢

(1) 9F1-19, 31e9g-2 ®
(2) 9F-11, I99-3 d
(3) 9FI-11, I99-1 H

(4) g foeT g €

oeEN faaet @ oot @& @E?
HIAHRT B

() PrdeTe @1 foo

(i) ORI &l foe

(iii) TTEFAR &l foord

(iv) 3aFR 1 f&d StimEe

Level-2/212

[34]

120.

GET IT ON
Google Play

Which is not a direct challenge

towards Indian Democracy ?

(1) Degradation of moral values
(2) Danger of Communalism
(3) Caste System

(4) All options are right

In which part of Indian Constitution the
Union and the States Administrative

Relations are mentioned ?
(1) Part XIX, Chapter-I1
(2) Part XI, Chapter-III
(3) Part XI, Chapter-I

(4) All options are wrong

The correct chronology of the

conquests of Alauddin Khilji is :
(1) Conquest of Chittorgarh

(i1)) Conquest of Gujarat

(ii1) Conquest of Ranthambore

(iv) Second Campaign of Devgiri
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[35] [A]
Zc : Code :
(1) i), (i), (@), (iv) (1) (i), (iii), (@), (iv)
(2) (i), (1), (D), (iv) (2) (id), (1), (D), (iv)
(3) (1), (@), (iid), (iv) (3) (i), (@), (iiD), (iv)
@) D), (iv), (iid), (ii) @) ), @iv), (iid), (ii)

123, FefloRad & @ P9-61 uitla 1 78 123. Which one of the following is not a

g7 terrestrial planet ?
(1) o (1) Venus

(2) " (2) Mars

(3) gewfd (3) Jupitar

(4) 39 (4) Mercury

124. frefafeg & @ @9- ‘%F'Tﬁ &l 124. Which of the following is not cause

SRt & BRI & © ? of origin of Earthquakes ?
(1) SErTgEr e (1) Vulcanicity

(2) T 4R (2) Oceanic Waves

(3) 991 fspa (3) Faulting

(4) 5aRf® Taa (4) Hydrostatic Pressure

Level-2/212 P.T.O.
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[A] [36]
125. ‘FEmwey 9 e 3 oTWEd ¥ 125. 'Meanders' are formed through the
ffa & € ° erosion of which agent ?
(1) 7 (1) River
(2) B (2) Wind
(3) | el (3) Sea Waves
4) ‘ﬂ:&l"ﬁ ST (4) Underground water
126. H9-9 GEUM MW EN WRA™ 126. In which Constitution Amendment
L1 L2 G B £51  R B <fl | 5 the new words are added in
7 Preamble of Indian Constitution ?
(1) 428 (1) 42nd
(2) 443 (2) 44th
(3) 524 (3) 52nd
4) 86d (4) 86th
127. A% GH & AR W] (FﬁEFHﬂT 127. Who was the third Speaker of Lok
HeTE) B & 7 Sabha ?
(1) EER &hA 4 (1) Sardar Hukum Singh
(2) 41 Sflo THo el (2) Shree G. S. Dhillon
(3) &t To GSiar El (3) Shree N. Sanjeeva Reddy
(4) &t SR Tq (4) Shree Baliram Bhagat

Level-2/212
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128. WA & JUUSEURG et fear s

R

(1) | fqeraveat & =@ &)
(2) HEe & T g

(3) @ad TG 9 % qeedi g

@) a9l faeheT w2

Tgo o Mo & way H fr=ifoiad
¥ § P e orgm © 7

(1) TG0 Fo MEo H IPWE ER
Sauie 39 B, P Y& & wY
T ORId A S B

(2) I8 FHAMFT Tl USId BT SYTART

T B

(3) S & 999 S99 TR, 9T @
g ROl AR @ SEd @l

SMRT g T A ST B

(4) TG0 o MBo H @, @A
AR frem @ sty fRem S R

Level-2/212
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[A]

Vice-President of India is elected

by :

(1) Members of all Legislatures

(2) Members of Parliament

(3) Only members of Rajya Sabha

(4) All options are right

Which of the following comment is

inconsistent, with respect to H.D.I. ?

(1) HD.I. stands for 'Hunger
Development Index', which also

presented as Rank.

2)

It is using purchasing power

parity method.

(3) Life expectancy at birth denotes
average expected length of life

of a person at the time of birth.

)

H.D.I. includes income, health

and education.
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T @ SUdeEl, W &)

EEEIECATUINC RS ki SO B
g7

(1) rsguf
(2) FEaw-AEREr TiEs
(3) HaETT

(4) 99

Frfafed § & #9-a wdi Red
I & wE 7T & 7

(1) W F G

(2) T H

(3) Afesh e

(4) G A B FEET
SFT-2011 % STPER 9RA § Al

eRaT § wdie el TS -
g7

(1) gRamm
(2) fERr
(3) TN

(4) FNETs

Level-2/212
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Who decides the emoluments,
allowances and privileges of

Governor ?

(1) President

(2) Comptroller and Auditor General
(3) Voter

(4) Parliament

Which of the following is not a

function of Reserve Bank of India ?
(1) Creation of Credit

(2) Credit Control

(3) Monetary Policy

(4) Issue of Currency Notes

Which is the most backward state in
Female literacy in India, as per

census-2011 ?
(1) Haryana
(2) Bihar

(3) Rajasthan

(4) Jharkhand
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[39] [A]
133. 4G & ghd Eﬁq g ¥ AR 133. What is the order of contribution of
& & AN & HH M 7 different sectors to GDP of India ?
(1) Jores > fadEes > uefie (1) Tertiary > Secondary > Primary
(2) JaEs > s > &k (2) Tertiary > Primary > Secondary
(3) e > fEdas > ?ﬁ]’qzﬁ (3) Primary > Secondary > Tertiary
(4) TgEE > Eﬁ]’éﬁ? > fadia® (4) Primary > Tertiary > Secondary

134. e g’ﬂ?ﬂ?ﬁ 7§ 9 & | 134. From which of the following
A & A o gq g7 archeological sites pit-houses have

been found ?

(1) THEH (1) Damdma

(2) Folem (2) Burzahom

(3) AT HiE (3) Chopani Mando
(4) MG (4) Shortughai

135. 9RAE HAgM & HE-9 OTWE H 135. In  which article of Indian
qamEdl @ H@eEEr afid ® 7 Constitution the composition of

Panchayats is described ?

(1) arg=ss 243 (1) Article 243

(2) BT 243-% (2) Article 243-A
(3) BT 243-G (3) Article 243-B
(4) BT 2437 (4) Article 243-C

Level-2/212 P.T.O.
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[A]

136.

fre srdemell F WA & wEuEE s
B FEFAT [T SR 1956-1968 &
Teg gl Ml & gfoed F &4 e
T el fear ?

(1) Slo THo &USHT
(2) dlo THo fiemE
(3) Zio Fo TFRSATT

(4) THo THo STTeariardn

Bh & AN T JerErR

& @&l gedr $HH B -

(D) 99 > <= > ofedes >
SThieH

(2) 99 > ofcdlved > e >
SThies

(3) UG > Sfedlived > SMhied >
fo

(4) edves > TV > e >
STehies

Level-2/212
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Which economist first  studied
poverty in India and indicated a
decrease in the percentage of rural

poor between 1956-1968 ?
(1) B. M. Dandekar

(2) B. S. Minhas

(3) D. T. Lakkarwala

(4) M. S. Ahluwalia

The correct decreasing order of the
following Oceans according to the

area is :

(1) Pacific > Indian > Atlantic >

Arctic

(2) Pacific > Atlantic > Indian >

Arctic

(3) Pacific > Atlantic > Arctic >

Indian

(4) Atlantic > Pacific > Indian >

Arctic
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138, G-I q1 G-I & B B qen

A R T ge # IENT A W
T8 IR H A BT

QEl-I El-II
(T) (G

(A) gHH SR
(B) Gy
(C) @hIT

(D) JIe
&< -
(A)
(1) (i)
(2) (iii)
(3) (iii)
4) (iii)
Freifafad & & @e-a1 gafed 787
T ?
(1) 9erEs-as - Jed < HAHR

(i) TS Tho ST
(i) THo Ao d
(iii) OTRT &I
(iv) o do sh

(B)
(iii)
(iv)
(1)
(1)

(D)
@iv)
(ii)
@iv)
(ii)

(ii)
(iv)

(2) TR-9fe - g&A Fa /A
3) E - ge R

(4) GRfE - AIRAT & e
& =

Level-2/212
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[A]

Match List-I with List-II and select

the correct answer using code given

below :
List-I List-1T
(Archeological (Excavator)
Sites)

(A) Sutkagan Dor (i) George F. Dales
(B) Bhagwanpura (ii) S.R. Rao

(C) Balakot (ii1) Aurel Stein

(D) Lothal (iv) J. P. Joshi
Code :
A) B) (©) @)
M ) G G Gv)
() @) Gv) @ (D)
() Gi) @ () Gv)
@ @) @@ @Gv) (D)

Which one of the following is not
correctly matched ?

(I) Mahadandanayaka — Chief  Judicial
Officer

(2) Nagara-Shreshthi — Chief Banker/
merchant

(3) Uprik — Chief Craftsman

(4) Sarthavaha — Leader of the
merchant

caravans
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[A]

140. %’ P SR T G FAT HA-AI
g7

(1) ‘e%e’ @ ofvwmE, sRamm i
T freer 9w g

(2) EHe AT T H TE9H T
Y Hedprl 9 2

(3) B®E 1 TR, 1966 & I &

SR

(4) B%S FW eaen & 9 o |
‘BHE IO T B QT 8l

141. AMNF & MHCREd el § 9
e IHE AW ‘IE’ Srad R
™R ?

(1) 77 R
(2) X e
(3) g farcrerE
(4) T REcE

Level-2/212
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140. Which statement is not true about

'HAFED' ?

(1) 'HAFED' stands for Haryana
Agricultural Farm Education

Department.

(2) HAFED is the largest apex
cooperative union in the state of

Haryana.

(3) HAFED came into existence on

1 November, 1966.

(4) HAFED plans to open 'HAFED
Markets' in all the districts of

Haryana.

In  which of the following
inscriptions of Ashoka his name

'Ashoka' has been mentioned ?

(1) Ahraura Inscription

(2) Nettur Inscription

(3) Bhabru Inscription

(4) Rupnath Inscription
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[43] [A]

142. F=fofag & @ SF-A1 999 tﬁrcr i 142. Which one of the following

e 78 § 7 mountain is not located in Europe ?
(1) Teaq (1) Atlas
(2) STqH (2) Alps
(3) =& W& (3) Black forest
(4) TR (4) Apennines
143. ‘ad o 9= 9 T ARME ® ? 143. What is the meaning of word

'sustainable development' ?

(1) oot 9 fqe™ (1) Rapid development

2) ﬁf{ &1 foehrd (2) Agricultural development

(3) JE @ faeE (3) Industrial development

4) [ERer @R & 9 SR (4) Economic development with
feeprd environment protection

144. TErEdl @ foxig Refdy & gAfdceT & 144. Who constitutes the Finance
feTe for STERT T e I e ® 7 Commission for Panchayat to review

financial position ?

(1) &g (1) Parliament
(2) fqurHTEs (2) Legislature
(3) gy (3) President
(4) TSI (4) Governor

Level-2/212 P.T.O.
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[A] [44]
145. 3% faem @ S@gRem & 999 145. What is the sequence of improvement
Ja @l $oH 1 g7 in the concept of economic
development ?
(‘37} S (A) Income
(E[) gicl AT (B) Per Capita Income
(|) Ster 1 Qe o e (C) PQLI
(%) w0 o SMEo (D) HDI
Fel 9 BE- © 7 Which sequence is correct ?
() &, 9 9, (1) A,B,C,D
2 &, 9,49, (2) A,C,B,D
B3 HA, 7 9,9 (3) A,D,B,C
4 1,9, 17 9 4) A,B,D,C

146. ffafed & & @He-ar ﬁﬁﬁﬁ & 146. Which one of the following is not

g7 correctly matched ?
(1) % @M - 231° TN (1) Tropic of cancer — 23%2° N
(2) FBY WM - 23%° R (2) Tropic of capricorn — 232° S
(3) Y& 3ARR - 90° TEl A=K (3) Prime meridian — 90° Eastern
Longitude
(4) Ut fofyr X@m - 180° EC(ET an (4) International Date Line —
180° qi¥=™ 180° East and 180° West
3 Longitude

Level-2/212
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[45] [A]

147, G-I & GE-1I § B #if @ik 147. Match List-I with List-II and

SIEMREC ROl %< 9 9 @& SR H identify the correct answer from the
T FHIT code given below :
-1 Q-1 List-I List-1I
(afufen @) (Committee) (Year)
9. IS Hedr | (1) 1986 A. Ashok Mehta (i) 1986
Committee

§. Tdo UHo fYgal (ii) 1978
aftfer

B. L. M. Singhvi (i) 1978

Committee
. o 9uE @ffd (i) 1953-54
C. John Mathai (iii) 1953-54

Committee
T HUEH Qi (iv) 1963
D. Santhanam (iv) 1963
Committee
. Code :
?_c" h

(1) TG oG TG FGv) (1) A B Cdi) D(v)

() ST () (i) HGi)  T(v) (2) A@) B (i) C@i) D(@v)

(3) AG) TG "G  T3Ev) (3) A B(@) C(i) D(@v)

4) AG) B C(v) D i

4) 311 (@) "H@av) FT(i)

Level-2/212 P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

[A]

148, Frefifed § @ #i9-w1 @@ Rew
AR farepies el # 9H5R & 7

(1) A9 ® T
(2) TH XM

(3) TH TbR Al B
(4) TH & FTSH

frefofe sl & #9-dn
TRy 3 HRY @ i B

[
(=]

(1) T/ =i
(2) oS-

(3) TWis-11

(4) RE-11

[46]

e

ot

GET IT ON
Google Play

148. Which one of the following is most

violent and explosive type of

volcanoes ?

(1) Hawaiin
(2) Strombolian
(3) Vulcanian

(4) Pelean

'Vetti' in the Chola period was :
(1) Group of Merchants

(2) A sea port

(3) A kind of tax

(4) A royal ritual

Which of the following rulers is the

builder of 'Nishumbhasudini' Devi

Temple ?

(1) Vijayalaya Chola
(2) Rajraj-I

(3) Rajendra-II

(4) Pulakeshin-II

Level-2/212
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R @& @
I TF F RN GHEF B 9K 3§l SR IR T H
Sl

N
6. Answers to questions in answer sheet are to be

given by darkening complete circle using Black ball
point pen as shown below :

© @ ® ®

The answer will be treated wrong;, if it is marked, as given

below :
0 ® & @

If you fill more than one circle it will be treated as a
wrong answer.

10.

11.

12.

13.

14.

15.

16.

11.
18.

19.

20.

. 9l I 3T OMR I TF T & 3ifhd H1 T IT AFYI

J
. 6 FE -G § 39 WM & [T & T @i e W 8 #X (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | IT oA o W& o1 (ThE TYS) BTN
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)
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¥ T TP IR X Sifhd Y B 9% 39 S&a Tel o Gl ol (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)
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i wm & faRed o= 71 forEh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the
Answer Sheet.)
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& W) {H’ﬁ g+ W e Iueer T WI% GlTQ‘ﬂI (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

HQ‘I—W/W =% ¥ RU T wEie B TRl /el ade § swn) 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)
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YoR, MeEA B, Foaslies SUBLT A Rl SF UK & |l Bl @ S a1 IWAM HIA @ TgHI 7@l 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

TEE BT 98 TN W T&F Tl oo waw 1 (e Fo) &R Wew™ UH f@M| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

FE e AT THdEE AT AT $ O FE TRl STUAT WM A B! (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)
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MM &0 999 59 99 W M @ ] [ @ @@ Aer § & a0 A i @Rt B AR T o 959 ot o 9 7 &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa et B SYART afstd %I (Use of Electronic/Manual Calculator is prohibited.)
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et & wf T w e A » e wd e @ BRI (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ‘[—SFFIEF[ IR TR =% Eﬁg AN T I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)
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S HEd R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	C-212-A.pdf
	ROUGH WORK1.pdf
	1-30_212-A.pdf
	31-45_212-A.pdf
	46-60_212-A.pdf
	61-90_212-A.pdf
	212-A.pdf
	ROUGH WORK2.pdf
	Z-BACK COVER.pdf

